
SPSS Syntax to compute the scales of the Behavioral Anger Response Questionnaire, BARQ 

Different scale items 
Assertion 
1.1, 1.2, 1.3, 1.4, 1.5, 1.6 
 
Direct Anger-out 
2.1, 2.2, 2.3, 2.4, 2.5, 2.6, 2.7 
 
Social support-seeking 
3.1, 3.2, 3.3, 3.4, 3.5, 3.6 
 
Rumination 
4.1, 4.2, 4.3, 4.4, 4.5, 4.6 
 
Avoidance 
5.1, 5.2, 5.3, 5.4, 5.5, 5.6 
 
Diffusion 
6.1, 6.2, 6.3, 6.4, 6.5, 6.6 
 
Scoring 
Not true = 0 
Sometimes true = 1 
Often True = 2 
 
Different scales 
 *Direct Anger-out. 
COMPUTE DAO = mean(barq2.1,barq2.2,barq2.3,barq2.4,barq2.5,barq2.6,barq2.7). 
 
*Assertion. 
COMPUTE ASSERT = mean(barq1.1,barq1.2,barq1.3,barq1.4,barq1.5,barq1.6). 
 
*Social Support-seeking. 
COMPUTE SOCSS = mean(barq3.1,barq3.2,barq3.3,barq3.4,barq3.5,barq3.6). 
 
*Diffusion. 
COMPUTE DIFF = mean(barq6.1,barq6.2,barq6.3,barq6.4,barq6.5,barq6.6). 
 
*Avoidance. 
COMPUTE AVOID = mean(barq5.1,barq5.2,barq5.3,barq5.4,barq5.5,barq5.6). 
 
*Rumination. 
COMPUTE RUMIN = mean(barq4.1,barq4.2,barq4.3,barq4.4,barq4.5,barq4.6). 
 


